
����� ����	
��� ����
���  �����
�������
�� �� � ����� ���������


 

�������	
� �
����� ��� �����������
��� ����������

! �����" !
 #��� ������� $��%

�&'#(&� )&'�&'�*�&�  �+,-'(*. &,�&  /(�

��
����012�3��
42�������	
�2�
�����25����20���36728��2���3�352"��89��35������:�������:	�5�;����"���:
*�3<72����3
�03��2����53���25��32��3	205����32
302�8�03�03���:

nick.klasovsky
Rectangle



��� ���������� � =��% ������� )��8�������

��
� �����


!�	�
��	�"���� #$$$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $
>������;������� 83����3� �: : : : : : : : : : : : : : : :
��030��	03��3 �: : : : : : : : : : : : : : : : : : : : : : : : : :
��038��� � ��8��0	03��� �: : : : : : : : : : : : : : : : : :
?308�3	03@���� �
����� �: : : : : : : : : : : : : : : : :
?308�3	03@���� 8������3  =: : : : : : : : : : : : : :
/0�35�3��3 =: : : : : : : : : : : : : : : : : : : : : : : : : : : : :
����48�����3 � ��0�3 ������ =: : : : : : : : : : : : : :
/������3 =: : : : : : : : : : : : : : : : : : : : : : : : : : : : : : :

%�
�  &$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $
(�������� 8�58�  A: : : : : : : : : : : : : : : : : : : : : : :
B����� �0�������  �: : : : : : : : : : : : : : : : : : : : : : :

��58�����3  �: : : : : : : : : : : : : : : : : : : : : : : : : : :
��03�5�	"  �: : : : : : : : : : : : : : : : : : : : : : : : : : : :

#��3 �3	"��	0�3  $: : : : : : : : : : : : : : : : : : : : : : :
�����'����  ($ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $

B3�8C� ���8�3�� ���� ��1	3
  ��: : : : : : : : : : : : :
%)�*��� #+$$$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $
,����������  ##$$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $

-�	�
.	����
� ���)'��/�  #0$$ $ $ $ $ $ $ $ $ $ $ $ $ $
1������  #&$$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $

>�5���� ���� ;�����0�	�
�3
  ��: : : : : : : : : : : : : :
'�05��������3 8�58�  �A: : : : : : : : : : : : : : : : :
B5��������3 8�58�  ��: : : : : : : : : : : : : : : : : : :
>�5���� 0����� 0�	�����3��  �$: : : : : : : : : : :

>�
5�����3 0����� 0�	�����3��  �$: : : : : : : :
>�������3 0����� 0�	�����3��  �%: : : : : : : : : :

(	"35��� 8��1	03@ 8�3�5���	0��	"  =�: : : : :
2	3��
  00$$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $

D��0������3 0 ����������3�� ����0� 	04<	�  ==
B3�8C� 8�58�  =�: : : : : : : : : : : : : : : : : : : : : : : : :
B3�8C� 8�58� 
30 3�353��C� ��3��
1	�	"  =A
-�353��� ��3��
1	3 8�58�  =�: : : : : : : : : : : : : :

(����� �3��  =�: : : : : : : : : : : : : : : : : : : : : : : : : : : :
(����� 8����  =�: : : : : : : : : : : : : : : : : : : : : : : : : : :

>4�3 8���3��0�3 � 8���0���3  =%: : : : : : : : : : : :
���8�3�� ���� ��1	3
  ��: : : : : : : : : : : : : : : : : : : :

���8�3� 0 8�3�<	�3��35 �!����  ��: : : : : : : : : : : :
���8�3� 
30 8�3�<	�3��� �!����  ��: : : : : : : : : : : :

)04<	� 0�5�3��3  ��: : : : : : : : : : : : : : : : : : : : : : :

,����
�
E��5� ������� )��8������� �	03��
3 �� ��53����03 � 8������ 0��10��3
0 �;3������5� 8�������5�:  ��;��5�	
3 ��C��3 � ;��5�3 ������� 5����
0���367 � �������3 ���3��3���3
 8�� ���3�359
"��89�����:�������:	�5:

4����
����3
�0� 8�
����	
� ;��5� ������� )��8������� 
3�� 	"������� 8����5�
��������5�:  &	"���1 8����1 �

4�� � ���� =��$: F���� 	04<7
����3
�03�� ����53��� ��3 5��3 
�7 ��8������. 8���3���� ���
���5�	0��� 
30 �8�03���3
 8��35�3
 0���� ;��5� ������� )��8�������:
��;��5�	
3G0�����3G� �3
 8�
����	
� 5��1 8���3��7 05����5 
30
8������5�����:

5��

 ��������

��0�� ,#HI. �������. ������� ���0 ���� ������� �1 0����03����5�
0����5� ��������5� ;��5� ������� )��8�������:



'3
3��� 05��� �

�� ���: �����������  =��% ������� )��8�������

-������ 	�
��
6����� ���� 5�
���

��= ���% /����4�� ���5�� ���A�%� � �8�����0��� ���5�� ��%��%�:  #�����
���5��� ���=�% �� 0����� 5���������3��: B5�3����� ��0�����3
�������	
3. �� ��C��	" ����48�
3 ���5��:

��� $��% #����� 03���� 0����� 0�	�����3�� ��%�%�% � �������	
3 	0��0	03���:



'3
3��� 05�����

�� ���: ���������� �  =��% ������� )��8�������



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �

��� ����������� 	��
  ������� )��8�������

����� ����
�� ���� �������
�� �� � ��7��
���������


!�	�
��	�"����
��03	0���
 � �����
 �������	
3 
308�3	03@����:
&�8���3���3 ����03�3���. ����� � �������	
3 ����	01	3
	0����<	� � ��01�03@. 
3�3�� �1 8���03
�3. 0�����3 �1 �
����53���	
� ��	" ��01�03@:

/83���
 ��4. �3 	��� ����53���	
� ��01�03@. ��1	0�
1	
�4 �������	
4. 
3�� ����48�� ��� 83����3��
�
�����
1	3�� � �3�����
1	3�� ��01�03���:

6�
��'
8

����� �������'

>��<	�	�3� ��01�03@ 
3�� ��8���3�0����� 0� ��. 
�
��01�03��� ;��5� ������� 
��� 0�����������3.
�
��������3 � �3��������3 8�030 �������;�������
83����3�:  K��� �������;������� 83����3� ����� ��4
0����������	" ��
 ����
4��	" 8��	�����C�. ��C�0�
0������ 8�03�0���3�� �� 
308�3	0�3�� �����������
8�030��	0���	" �5 0���@:  B������ ��� 0�8�0���� 03
��0�����5� �������5� 0�����5� 
308�3	03@���� �
8�038���5� ���0 �1 ;�0�	0��3 0����� �� 8�038�����03���
8���3�0���	" 0���@:

��	�	���	��
�

/��	�3 ��01�03� ;��5� ������� � �8��C
 ����. ���
�8����� � ���1	0��3
 ����53���	
� 5��3 �8�������7
�
���3��� 83����3�� ��
 ��0���03��3 �8�04��:

��0������ ��3���<	��3�� ���	�� ��01�03@ �
3
5�
1

� ���	�3 ��3��8���3���	" 5��3����C�

� ��������3 5���;���	
� 
30 �8������3���

� �����4	�3 ��
 �5���4	�3 0�
308�3	03@ ��
 
�����

� ���	�3 ��3���<	���	" ��
 ��0���0���	" 	04<	�

� ���	�3 ��30����3��0��3�� ��8����3���
8�5�	��	03��

� �������3 ��01�03@ 8�03���	0�
1	�	" ��8��0	0���3
�
	�1�3���

��	��
�� 
 �����	�	��
�
/83���
 ��4. �3 ��0�����3 ��01�03��� �1 8�030��	0��3 �
��8��0	0��3 �� ���	�� � �������	". � ��C��	" 5�
1
8��	���7:  >�0�����3 �
���10�
1	3 ��8��0	03��� ���
��01�03@ ;��5� ������� 
3�1 ��3����3. 
3�3�� ��3 
4�1
8�03���03���3 �������	
3 ����	01	3 �������	
�. �
����� �
�3����������:

>�0�����3 ;�0� �������	
� ��01�03@ 5��01 
�7 0����3 0
�
���10�
1	�5� 8�038���5� 8�@������5� � �������5�:

!�	�
��	�"���� �)�*��

�
� �����17 �
���3@. 8�03���03��
 ����38�
1	�	"
�������	
�:

� ��3 �
�����
 ��01�03@. 
3�3�� ��3 5��0 �����;��	
�:

� ��3 �
�����
 ��01�03@. 
3�3�� ��3 ����3��0��0. �3
0�
308�3	03���. ��0�� � ������ �1 ��3�����0��3. �
����5���	0�3 
������ �0����
1 8���������:  ��3
�5�
�
 � ��3 ���1	0�
 �����	" ��01�03@
0�
308�3	0�
1	�	":

� ��3 0
����
 ��4 �� ��	"�5�	" 3�353��C�:  ��03�
���������35 ��
 �3���������35 ��	"�5�	"
��01�03@ ���1	0 0�������3 � 0�	03��
. �� ��01�03��3
	������	�3 0���0�5� ��4:  B�
����
 0�������3 �
0�
308�3	0 ��01�03��3. �
� ��3 ��8�<	�7 ��
��3�8��0�3���3�� ���	"�5�3���:

� /��@ 	�<��3��3 "�������	0�3 � 8�3�5���	0�3
L��08�4� �����M 8�03� ���������35 ��

�3���������35 ����35C� � ��58��3��C�
8��	�
1	�	" 8�� 	�<��3��35:  >��1	0. 0�
����
 �
�0��	0 ���1	0���� 8�03� �3���������35 ��01�03@
3�3����	0��	":

� B��8���0 ��4 � �������	
3 ����	01	3

308�3	03@���� ���������	" 5��3����C� �
8�03	0���
 
3:  ��03���03��
  0��3	3@ 8����	3���
����<��3 
308�3	0�3�� �
	"��03��� ��4 � ��������
5��3����C�. � �����
 0��3	��� �8�04� �	"�����:

� �
� �����17 �
���3@. 8�5�4��
 � 5��3
 �	0������	"
��3
308�3	03@����	" � 5�3
�	� 8��	�. ��C�3 ��3
5��1 
�7 	������	�3 ��3��5������3. ����	" 
��
���1	3 8���3�0	"��3. ����3 ����4�0�3. �
����
3�3����	0�3 8�� ��8�4	�35 � ��	"�53 	04<	�.
��C��	" ��3 5���� 0�5��17 ��� ���	03
 ������7:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	��

��� ���������� � 	��
  ������� )��8�������

!�	�
��	�"���� ��7�����  
�
� �����17 8����� ��
 3��8��0
� 8�03���03��

����48�
1	�	" �������	
�:

� ��3 8�� �������. ��3 �8���
. ��3 �0��;�
 � ��3 �����

������3�� ����� ��5. ��0�3 �1 ���������3 ��

������3 5��3����� �����8���3:

� B�83���
 ��8���3���1 �3�����	
4. �
� �����17
���	3����	
� �����	" 5��3����C� � �8��C�:  ����48�

�3���� �������	" 8�038��C� � �������	
� 0������	" �
�����	" 	"�����3������� ��
����	
� 	"35�	0��	":

� ��3 ���1	0�
 �����C� 3�3����	0��	" 8�� ��8�4	�35
8��	0�� 8��	� 0 5��3�����5� �����8����5�:
>	03<��3
 ���1	0 0�������3. �
� �����17 ����03���:

� (8����6. ��0�3 0��
��
1 ��4 �����
�3 ���1	0����.
0����� ��	���
1	3 � ��<��	3:  K3�3�� ��
�	"��3
8���� � ��
���3 ���������3
. ����	"5���� ���1	0
������� � �3�����	
4:

� ��038�����0�
 	0��0	03��3. �
����4. �3�������3 �
��8���4 ��01�03@ 0�����3 0 �������	
�5�
0�5�3�0	0���5� � ����53���	
�:

� /����
 ����� 	04<	� 0�5�3���	" 8�030��	0���	" ��
���������� � ����������	" ��01�03���	":
(��������
 ��4 0 8�03������	�3�35 ;��5� ������� �
�8����3 ��;��5�	
� � 	04<	��	" 0�5�3���	" � 8����:

4	
��
��
�

%�9-5:;:1�:<  /������3 ��3�8�����	"
��01�03@ 3�3���������	0��	" 
3��
��3
308�3	0�3 � 5��3 �8�������7
<5�3��3��3 8����3��3. 8���� ��
 3��8��0
4:
(8����0���3 �30�����	
� 8������ 
�7
	04<	�1 8�����5� ���3���3
 �
�����:  >
8�0�8���� ����18�3��� ���3� �3���3��
8�03
�	�� 3�3����	0�3�� ��
 ����18�3���
����03��� ��
� �����������. ���3��
����	"5���� ���1	0�7 ��0�����3 ��01�03���
3�3����	0�3 � 3�3���������	0�3: ��3 �����
8������3 ��1	0�7 ��01�03@. ��8C��
8��
�35 ��3 0������3 ��08�0���� � �����4��:

>�0�����3 8��	3 8�����0��3 �3��1��0 ��
���
���������3
 ��
 � ���3���<	� � 5 L� ���8�M �� �����C�
��
��� �1 ������3 0� 8��	3 � ���3;�3 ��3
308�3	0�3

����� =. ���3����� � ��
 = � 5��01 �83����7 ���5� 
�E�� ��. �E�� �� L�-) �������� ���. ��= � ���M ���0 
�E�� ��:

� > �
�0���	" �������� ��0�����3 8�03�5����
8�03���01	3 8�1� 5��01 
�7 3�3����	0��3
8��1	0��3 0 0�35�1 8�0� �30�����	
� ��3 ��3��03
 ���
��  53���5. 5�3�0��3
 8�0��01�35 8�0������
1	�5
�� 5�3�0��3�� �
���� ��8�4	�3 8�0���
5��3

����I:

� >�8����3��3. ��C�3 5� 
�7 �0�35���3 �
3
5�
3.
5�4�0� ����5�. 8�����4 �
�0��� ��������.
8���;��5� �83�����C�. 0
�������. 5�	������
;�����5C�3� � ���03 ��5�	"�
1	3:  �3����3�
8��	�
1	� � �
�0��03 �������� 5��� 
�7 �0�35����:

� �����3
3 5������<7 ����18�3��� 8��3�	
���
0�8�����3�� 0 ��3�3����0����3�� 	���� 	0����3��:
���	����� ���
1	� �� 8�5������3
 8���3�0	"��.
�8: 8���;��5�3 �83������. ��
 ���01	�
��38�03���01	3 
���. 
3�� ��3�0�35����:  �3����3�
5��� ����7 
��� 0 8�03���01	�5� 8��3�0��5� ��

�����7 ��<5� �0�35��
1	3
. �
� 0�83���7
8��1	03��3 0 0�35�1 8�0� 8��	� 0 ��01�03���5�
3�3���������	0��5� ��
 � �	" 8�
����:

� &83�����0� 5��01 ���0�5���7 ������� ��C�� 0
�4��
3<	�1 8�5�4�0� �4�1 � �3��
3<	�1 8�����3��. �
�
�����17 8����3��� 8�0� 8��	� 0 �4	0��5�
3�3���������	0��5� 8�����3��5� ����������5�:
K3�3�� 5��01 
�7 ������3 �4����	3. ���3�� ��	�17
���C� �� ���@ ��
 8��	3. �����7 �4����	
3�3����	0��3 8�03���01	�	" ��
� 0������7
�0�35��
1	1 ��<54 8��1	0��1 0 �3��
3<	�1 8�����3��
��
 ����5 �0�35����5 �
�3��35:

� &��1	0 0�������3 3�3����	0�3 � �0�35 3�3������
8�����3�C� 8�03� 8�0���18�3��35 �� ���������� ��

	0��0	03��� 8���0����	" 8�����3�C� ����������	":

� �� 0���@	03��� �3���������� ��01�03@ 8���1	0
��0�����3 ���1	0��3 ��01�03���. ��
�3 �0�35��
1	3
� 8�03����:

����3�����
� � ��	
� ����



K3�3�� ����35 ��
 
���3�����3� ��01�03��3 � ����35�3
��3 �0���� 8���������. ���1	0 ����	"5���� ����35 �
������
 ����48�
1	3 �����9

� &��1	0 � 0�
����
 0�������3 3�3����	0�3:  B�5���

8�3�5���	0�3 0����� ��	���
1	3 � ��08�4�
	�<��3��3:

� '�08�0��
 8�0�	0��4 ������ � ���@ 
1 8�03�
8������5 ��1	03��35 ��01�03@:

4�����
�

/��@ 5��3����� � ��8����3��3 0����3 8��	0�� 8��	� �
�3����������. 0�����3 0 �������5� 8�038���5�:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �

��� ����������� 	��
  ������� )��8�������

%�
�  
��58� 8���0���� ������� ,#HI L,��"N#3�����.
H��NI���53M � ���3
 ����
��<	� ����� ��
8�03������� ����	" ���<	� 8���0��:

?����� 8�58� ���0 ��3��3��� <�3���	� �4�� 8�
������3 �����3
 � ���	0�3
 �5������� �0�
��3 �
�������3 8�03�5�	"���3:

>���
��<7 8�58� 
3�� ��4��0� �� �����	�
��	"
8�58 0�4�����	". ���� 03 ����5�3��35 8���0��

3�� 5�3�0��� 
���0� ��3��3��� ���<7 8���3��0�
8���03
�3�� �� �0������� 8�58�:  #� 8���0��
�����
3 ��4 ����� 8���3��03 ������3 ��
��8�	"���� �� 0 8�58� �� �4�� 8���0����	":

������� 	 
��
� 
������ ���� � ����� ����������



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	��

��� ���������� � 	��
  ������� )��8�������

�
*���


 ����� ���� � ��7�� ���������

B�8�0��7 ��4 0 �������35 =:

1� %�
� ��	�	���	��
�

���	����*� ������.�� ��	��*���� ���
���	�

� B��C� ��3��
1	� ����
;�����0�	�
�3


��8�035�3���3 ������	0� 8���3��03 8�� 	�<��3��35
�
35��5 � �������5 �� �4�� 8���3��0� ;�����0�
1	3��:

= B��C� ��3��
1	� 0����C�
0�	������	"

(���� �� 8�03�1	0���� 	�<��3��� � 0�����	" 0�	������	"
� ����3
 8��C�	3 8�58�:

� '3������� � 5�3���� 	�<��3���
8���3��0� �����8����
1	3��

'3����
3 �������3 � �
35�3 	�<��3��3 8���3��0� � ����	"
;�����0�	�
��	":  *�8��3 ������3��3 �� �.�O�.�� 
��
L��O�� 8��M:

A *��5�� ���3	"��� >�	��0� ������ 8���3��0� �������
1	3�� ��4 0 8�58�:

� B�1	0�� 8���3��0�
������3��

#� 8��1	03��� 8�58� ,#HI � ���3
 ����
��<	� 03
6�C��35 8���3��0� � 	�<��3��� A.$ 
�� L�� 8��M:

� '3������� � 5�3���� 	�<��3���
0�	�����3��

'3����
3 	�<��3��3 8���3��0� ������	0��3�� �� 0����C�
0�	������	":  *�8��3 ������3��3 �� =.AO=.�� 
�� L��OA�
8��M:

� J3�3����� 8�C��� #0���� �� 0����0�3 3;3��� I3�����3�� � ������0�
8��	�<��3��3 ����3	0�3 �� �3������ 8���0�� �� ���
;�����0�	�
��	":

$ B��C� 	0����� (�3��
3 8��	1 0����� ��3��
1	3�� ���� ;�����0�	�
�3
 ���0
�3��3�	
�5� 8��	� 0����� 0�	�����3��:

�
*���


 	����*� �����

% B�1	0�� 8���3��0�
8�03�5�	"�
1	3��

(1 ������3 �� 8�03������� 8���3��0� 8�� 	�<��3��35
8�030 03�8C� 8�58� 8��	0�� 8�03�5�	"�:

�� '��� ;�����0�	�
�3 )������� 0 ������5�. ��C�3 ��8�035�3���3 0�����
1
8���03� 8� ��1	03��� 8��	�<��3��� ���0 ��8�	"�
1
8���03� 8� ��1	03��� 	�<��3���:  '��� 83���1 ;���	
4 ;�����.
��C�� 0�8�
�3�� 8�03���������� ��4 8���0�� �
0���3	0��0	03��� 0����C� ��3��
1	�	" � �4��
8���3��0��	":

�� B�1	0�� �4��
������	0�
1	3�� 8���03�

��!55 0�1	0�� 8���3���3���� ������ 8���0��:

�= B�1	0�� �4�� 0�����
1	3��
8���03�

��!55 0�1	0�� 8���3���3���� ����� 8���0��:

�� #���� 
��� ��
�	0� /5������� 8�038��� 8���0�� �� 0�1	0�� ������3
 �
�������3
 �� 0����C� 0�	������	" � �
� 8��C���	"
8�58�:

�A B����� 0�	�����3 /5�������
1 0�������3 8���0�� �� ��� ;�����0�	�
��	" ��

��8�	"���3 �� 0 ��	":

�� '�0�0�3��	0 ���������
�C���

(������ 8��1	03��3 0����C� 0�	������	" 0 ����5�
;�����0�	�
��5�: (����� ��4 0 ��C	" 8���C
��	" �����C�.
��C�3 �1	01 0����� 0�	�����3 0 ����5� ;�����0�	�
��5�:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �

��� ����������� 	��
  ������� )��8�������

�

	

�




�

��

��

��

�	

��

��




�

�

�

������� � ��������� 
��
� 
������ ���� � ����� ����������

�����! �� �������	
� 8���0��� 8�584 
30 ������:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	��

��� ���������� � 	��
  ������� )��8�������

5����� �	
�*��
�  

��������
�  

B�8�0��7 ��4 0 �������35 �:  ��58� ������� ,#HI � ���3
 ����
��<	� ������
1 ��4 0 ��C	" ��3���	0��3
�0����
1	�	" 8��C�3�:  ���C��� �3 ��8�035�3���3 0�����
1 8���03� � ��8�	"�
1 �� 0 8�58�P ��3�� 
3���
8��C��� 0����� 8���03�. ����� � ��5 	0���3 �� ��8�	"�:

��*/�
� ��	���
� � 8�	
� 	������
�

B��C� 0�	������ �� 8�03���3
 ����� �����3
 
3��
�������. 0��C� 0�	������ �� 8�03���3
 �����
���	0�3
 
3�� 0�5���4��:  #� 8�03���3
 8������3

���� ;�����0�	�
�3
 
3�� ��8�����0��3
8��	�<��3��3. ��C�3 8�����
3 0�������3
8���0�� 8�030 ���4 �����1 � 0�1	0�4 ������1 ��
����3�� 
���� ��
�	03��. ����48��3 8�030
8�03��� 0��C� 0�	������ �� 8�03���3
 ����
;�����0�	�
�3
:

�� ��������5 	0���3 8��	�<��3��3 
3��
���1	0��3 � 0��C� 0�	������ �� 8�03���3
 �����
�����3
 0�5��� ��4:

��*/�
� ��'�� � 8�	
� 	������
�

B��C� 0�	������ �� ����3
 ����� �����3
 
3��
0�5���4��. 0��C� 0�	������ �� ����3
 �����
���	0�3
 
3�� �������:  #� ����3
 ����
;�����0�	�
�3
 
3�� ��8�����0��3 8���3��03
8�� 	�<��3��35. ��C�3 ��8�	"� 8���03� 0 ����
8�030 0��C� 0�	������ �� ����3
 ����� ���	0�3
.
����� 
��� ��
�	0�. 0�1	0�4 �������1 � ���4
�������1 �� 5�3
�	� ��
���� 8���0��:

> ����48�3
 ;�0�3 8��C��� 8�58� 0�5�3���
1 ��4
����5�:  ���C��� 8�03���� ��8�	"� 8���03� 0 ���
;�����0�	�
��	". 8��	0�� ��� 8��C��� �����
0����� ��:

���
���	�

���
���	� ���
���	�

����	�


���
���	�

���
���	� ���
���	�

����	�


������� " #����� �$�������% 
��
������&



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� 	

��� ����������� 	��
  ������� )��8�������

��	�����=  

46>�><  ��03�5�	" 8�58� 0��3�� �� �8���
�
8��1	03��� 
3
 0 �������	
1 5��������
8���0���3��:

B�8�0��7 ��4 0 �������35 A:  ��58� 5���
8��	���7 8��	0�� 8�03�5�	"������:  ���	0��
8�03�5�	"������ 8���3��03 8�� 	�<��3��35
8�038���� 8�030 ���� ;�����0�
1	3. 0�����
0�	�����3 � �������
3 ��4 8�030 ���4 �����1 �
���	0�1:

K3<�� 8���3��03 8�03�5�	"�
1	3 
3�� ������	0��3
0 	3������3�� ����35� 8�������� 8���0�� ��
 0
����35� 8�������� 8���0�� ��035 L
��� �3��Q3��
����35M. 0����3 
3�� 	�<��3��3 8����
3:  �58���
	�<��3��� � 8�03��� 5�4�0� �58����5� ����
0�0��	0�
 =��2 5�:

K3<�� 8�03�5�	"�����3 
3�� ���	
����3 �4	0��3
8�0�	����35 �� ���	
� 8�58. 	�<��3��3 8���3��0�
��3 
4�0�3 8������7:  ��0�	��� 8�03�5�	"�
8�����3� 
�7 ��	������ 	����	0��3. �
� 	�<��3��3
8���3��0� 05�3����� ��4:

����'��
���
���	� ���
�
��
��
��

������� ' #����� �$�������% 
�$�����(



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	�


��� ���������� � 	��
  ������� )��8�������

���� ���=�
�	��  
>���
��<7 L5����5����M A �� L% ;���C�M �� 5����4

����3��03 ������3 A.$ 
�� L�� 8��M

����3��03 8�03�5�	"�
1	3 )�<��3��3 ����3 
�� � �������	
� L5����5����3 � 
��.
��� 8��M

)�<��3��� ��
�	03 8���3��0�

B����� 0�	�����3

����3��03 �����8����
1	3

=.AO=.�� 
�� L��OA� 8��M

�.�O�.� 
�� L��O�� 8��M

B���	�3 8���3��0�

����3��03 �����8����
1	3

 B���	�3 	�������3

=$O�� ��5��

�%$O=�� ��5��

R�3���	� �4��

>��� 8���3��0�

B�������3 8���0��

 *��	03��3 8���0��

$ 55 L<�: 03��:M. 8�����3���

�� 55 L<�: 03��:M. 8���3���3�. 5����5����
�����<7 �.�� 5 L�= ��C8M

�� 55 L<�: 03��:M. 8���3���3�. 5����5����
�����<7 ��.� 5 L��� ��C8M

46>�><  > 	3�� �0������� ��
�38�0�	" �����C�
���3�� �����7 
�� ��
��C��0�	" �4��:

>�5���� B�8�0��7 ��4 0 �������35 �:

�		������

�	���������

����
���
�����������

	�����
����������

������� ) *������ 
��
� 
������ ���� � ����� ����������



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �

��� ����������� 	��
  ������� )��8�������

�����'����  

%�9-5:;:1�:<  ��58� 5��� 
�7 ��30������3 8���1	0��� �� �03	0�����3�� �0�35�3���:
��3���<	��3 �0�35�3��3 8�58� 5��3 
�7 8�0�	0��1 8����� ��
 ��
�	"�:

46>�><  ��58� 
3�� 5�������� �� 8��3��. �� ��C��5 0��
��
3 ��4 �3������� 	�<��3��� 8���3��0�
��
�	03�� ���0 8�0�	��� � 0�����3 ��3������ 0��C� 8�3�5���	0�� �� 8�03�5�	"� �4	0�3��:  �� 8��3��
5��3 �3� 0��
����7 ��4 ��������� �3������� 8���3��0� ;�����0�
1	3�� 8���03�:

#�8�����03��3 8���3��0� 0 �������	
� ���3��� L5���: � 
��. ���
8��M

	
	���

�����
���

	�������

���
����

��	�����

���

���

6��
��� �� �����7� � ����'�
#� 0������������� 8�58� ���3�� 0��������7 ������	0��� <��
� +�.

8�������� � ����4���:

46>�><  > 03�����3 0��
��
3 ��4 8�47 �����C� 5��������	" � 	0�3��
��58�3�� 5�	���@ +�:  ���3�� ���7 ����	" �����C�. ��C�3 ��
�38�3


8���
1 �� 5�3
�	� 5������:

��

������

���	����

��������

���	

��

�%?@25:1�: 9A� �-5:51>25:1�:

�� 55 �1� 8�����3������

�� 55 8�030��	0���� �1�
8���3���3����
�� 55 8�030��	0���� �1�
8���3���3����

$ 55 	0���� �1� 8�����3������

��03�C�
�0�35�3��� 8�58�

 #�8�����03��3 �� 5�3
�	�
��
���� 8���0��

 B�������3 03 6�C��� 8���0��

B3 6�C��� 8���3��0� ������3�� A.$ 
�� L�� 8��M

#� �0�35�3���

>

!

2

�

 ��������	��
�
B�
�$
&+CD �

 5������
�
B�
�$
&CED �

!
2 �

> >

5*.�	� �37�
46>�><   > 	3�� �0������� ��
�38�0�	"
�����C� ���3�� �����7 
�� ��
��C��0�	" �4��:

������� + ,��-�.���� 
��
� ���� � ����� ����������



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

5���/* �������� ���� ��.���  
���8�3� ���� ��1	3
 �5������� ����3 8���1	03��3
��!55 �4�� ��1	3�� �� ����������3
 ����
��1	3
 � 8�58�3:

46>�><  B3�8��� ���8�3�C� �1 ����48�3 �� ���
��1	�	" 0 03��4��0��5 8�3�<	�3��35 �!���� ��
 ��
��� 
30 ��3��:  �� ������� � 8���0��� ���4 ��1	1
0 03��4��0��5 8�3�<	�3��35 �!����:

�: B�8�0��7 ��4 0 �������35 �:  &�	�17 ����3	
���� ��1	3
 L�M 8�����8���3 �� ���. �����
1	
���� �� �4��:

=: >���17 ����� � 	5 L=SM �4�� 8�030 ����4��4
5�	�
1	1 L=M:

�: B�����7 8�3�<	�3@ �!���� L�M �� �1� ��1	�:

A: >����7 �1� ��1	� �� ���8�3�� 8�58� LAM ��
�8���:

�: >���17 8�3�<	�3@ �!���� ��4
�3
 �� ���4 ��1	1.
�� ������3 ���8�3�� 8�58�:

�: B���4	�7 ����4��4 0�	�����1 �� ���8�3�03
8�58�:

�: B�5������7 ���4	��� ���8�3� �� ���03 ��1	3

L�M. �3��� �� 8�03��4	�
1	:

�

	

�

�

�

������� / #��
0� ���
-��� ���� ��1���

%)�*��� 

B�8�0��7 ��4 0 �������35 $:  �� ���48��5
������3��� 	�<��3��� 8���3��0� ��
�	03�� �
8���3��0� 0�����
1	3�� 0����� 0�	�����3 ��3
��03
� ��������7 8������	" �3����	
�:

� > 	3�� ���	"�5�3��� 8�58� ���3�� ��1	0�7
��8��� 8���3��0� ��
�	03��:  )�<��3��3
8���3��0� 8������ ������7 A.$ 
�� L�� 8��M:

� > 	3�� 0���0�5���� 8�58� ���3�� ���1	0�7
��8��� 8���3��0� ��
�	03��:

���	� 8�58� 0 8���3��035 8�� 0��3	���5
	�<��3��35 A.$ 
�� L�� 8��M 8�����
3 �0������3
	���� � 	0���3 ������� ����� ��� 5����3����:

� B��4��03��3 	�<��3��� �8������� 8��	4 8�58�:

� B5��3
�03��3 	�<��3��� 8�0��8�3�0� 8��	4
8�58�:

����3��032������3
A.$2
��
L��28��M

����3��032�����8����
1	3
)�<��3��3

�.�O�.�2
��
L��O��28��M

=.AO=.��2
��
L��OA�28��M

����03�
#�8�����03��3

����03�
B�������3

)�<��3��3 8���3��0�
0�����
1	3�� 0�����
0�	�����3

������� 2 34����� 
��
� 
������ ���� � �����
����������



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

,����������  
&8����3 8����3
 8��	3���� 0�83���1 �0������3 8�58� 0 5����5���1 ����
��<	�1:

%�9-5:;:1�:<  )0����<	� �8����3 8����3
 8������ ��������7 
3����3 ���
� 8������
1	3
��8���3���3 �����;���	
3:  ���3�� �������7 ��4 �� 0���� 
308�3	0�3�� ����������� �8�����	"
� �3
 �������	
� �
����� � � ���3
 ����53���	
�:

46>�><  &8����3 	0����<	� ���3�� ��������7 	04<	�3
 ��
 �0��0�3
. 0��3���3 �� ����	" 	0�����C�. 
��
��<����	03��3 �83������. 	0� ��8 ������3�� 8���0��:

2	3����'
���F 2	3�F ���������

2��	
���
�

B�����
0�	�����3
�� ���: ��%==�=

(8����0�7 ���8��� 0����C�
0�	������	". 	0� ��3 ����0�
1 <���C�
��	�3�� 8���0��:  > ��0�3 ����3��03���
8���0�� � ���8���3 0�����
0�	�����3�� ��
 84���47 � 0�����	"
����3	0�� 
4�0�3 ��5���� 0����C�:

2� �/* ��
�

'�)

	���	� ����	��
��	����������
�
�����

'�0�0�3��	0
�C���
�� ���: ����=�%

'�0�0�3��	0 �����
�� ���: ����%��

'�05������7 8�584 � �8����0�7
��0�0�3��	0 ����� � �C��� 8�� �1�35
0���	�� � �����5��03@ 8���0��:  >
��0�3 ����3	0��<	� �	0�<	�7 �3
3�353��� � 5�
	3 ������6��4���3
:

46>�><  �
� ���C	�7 	0���
8�03���
C�. ���3�� 8�03	"�����7
0�8����3 ��0�0�3��	03. ��C�3 5����
0����������7 8��	0�� 	0��0	03���
�����3�� ��58�3��:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

-�	�
.	����
� ���)'��/�  

���)'�� B�7'
�� ��	��	��� 2	������
 �������	�

#$ 5��
���	���

'��F ����	
�
�� �����
�
G	�����
	��
�
���
���
����. �
3 

	���
��.H

B�
�������� �1� 8���0����.
8�����01	� �� 5�3
�	� ��
����
8���0��:

(8����0�7 �4�3 8�� �1�35 ��3������<	�:
��03�5�	"�7 8�584:

B� ���3 	�<��3��3 8���3��0�
�����8����
1	3��:

B5��3
�0�7 	�<��3��3 8���3��0� �����8����
1	3��:

B� 5��3 	�<��3��3 8���3��0�
�����8����
1	3��:

B��4��0�7 	�<��3��3 8���3��0� �����8����
1	3��:

/�0���0��� 0��C� 0�	������: >�5�3��7 0����� 0�	�����3:

��3�����3 ���� ;�����0�	�
�3: >�5�3��7 ���� ;�����0�	�
�3:

��3 �0���� 3�3����0��C� 8���3��0�
�����8����
1	3��:

B�8�0��7 ��4 03 �	"35��35 
��1�$����

�����-��$��  �� ������32=� � =�:  >��1	0�7
8�584 � ���1	0�7 �4�3 K � D 0 �C��3
 	04<	�
8�58�:  >�1	0�7 8�584 � �8����0�7 �������3 �
�
35�3 	�<��3��3 � ����	":  K3�3�� ��3 5�
	�<��3���. ��5�3��7 0��C�:

K3�3�� 0��C� �0����. ��3 ��3 5���� ��	0�7 �C���	
	�<��3��� � ����	". �8����0�7. 	0� ��3 5� 
������
� �4��	" 8���3��0��	". 8�����01	�	" �� 0�����
� �� ��3��:

��3 �0���� 0��C� ��5�3�0�
1	� 	0��
�58���C�:

>�5�3��7 0��C�:

0$ 5��
���	���

'��F ����	
�
�� �����
�
G	�����
	��
�
��� �
�
���
����. �
3
��
 �
�
	���
��.H

/�0���0��� 0��C� 0�	������: >�5�3��7 0����� 0�	�����3:

/�0���0��� 0��C� 0������: >�5�3��7 0����� 0�����3:

��3 �0���� 3�3����0��C� 8���3��0�
0�����
1	3�� 0����� 0�	�����3:

B�8�0��7 ��4 03 �	"35��35 
��1�$����

�����-��$��  �� ������32=� � =�:  >��1	0�7
8�584 � ���1	0�7 �� 8�58� ���� , � J:  >�1	0�7
8�584 � �8����0�7 05���� 	�<��3��� � ����	":
K3�3�� ��3 5� 	�<��3���. ��5�3��7 0��C�:

K3�3�� 0��C� �0����. ��3 ��3 5���� ��	0�7
	�<��3��� 8���3��0� � ����	". �8����0�7. 	0� ��3
5� 
������ � �4��	" 8���3��0��	".
8�����01	�	" �� 0����� � �� ��3��:

��3 �0���� 0��C� ��5�3�0�
1	� 	0��
�58���C�:

>�5�3��7 0��C�:

&$ 5��
���	���
��	��*��
����	
� ��
�����
� G)��

	������
� 	�
I�/�*�
����	
�H

B�
�������� �1� �����8����
1	�
8���03� 03 6�C���:

(8����0�7 �4�3 8�� �1�35 ������<	�:
��03�5�	"�7 8�584:

/����� 8��	�<��3��� � �3�3�����03
8�C���:

(8����0�7. 	0� �3�3����� 8�C��� ��3 
3��
0���3	0��0	0���:

(8����0�7 ���5��:  K3<�� ���5�� 
3�� ��3������.
��03
� �� ��5�3��7:

/�0���0��3 8�3�<	�3��3 �!���� �
�����	" �����8���� 8���0��:

(8����0�7 ��0�����3 8�3�<	�3��3 � �����	"
�����8���� 8���0��:  >�5�3��7 ��0�����3
��0���0��3 8�3�<	�3��3 �!����:

J$ 1��*� ����
�
	����/�
	��
�
����=C
�3
�
3�
�
��
/*

�*�
��	�$

-�3����0�	
� 8���0�� � 8�58�3 �
����������3 8�030 0�����
0�	�����3:

>�5�3��7 ����������3 ��3
�3���3 0�����
0�	�����3 �� 	0���3. ��38�03���01	3:
��;��5�	
3 � ��38�03���01	�	" 0�����	"
0�	������	" 0��
��
1 ��4 � ��0�0���3 5$6���:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

1������  

%�9-5:;:1�:<  )0����<	� �8����3 8����3
 8������ ��������7 
3����3 ���
� 8������
1	3
��8���3���3 �����;���	
3:  ���3�� �������7 ��4 �� 0���� 
308�3	0�3�� ����������� �8�����	"
� �3
 �������	
� �
����� � � ���3
 ����53���	
�:

%�9-5:;:1�:<  ��03� ��������35 8�����0�	" 	0����<	� ��03
� ���1	0�7 ��8��� �8�4���3��
8���3��0� � ��08�4��7 ����35:  B����������3 �3
 	0����<	� 5��3 
�7 8�0�	0��1 �
���3@:

6��
��� ���� 8'�
��	�������  

46>�><  > 03�����3 ���� ;�����0�	�
�3
 0��
��
1 ��4 	0�3�� 8�3�<	�3��3 �!����:  ���3�� 
3 ��5�3��7. 
3<�� �1
0����3:  ��3 
3�� ����3	0�� ��5���� 8�3�<	�3�� �!���� 0� �����5 ��035. ��3�� �1 ��5�3����3 ����
;�����0�	�
�3:

&��1	0�7 �8�4���3
8���3��03 � ��08�4��7
����35:
&��1	0�7 �1� 8���3��0�
8�03�5�	"�
1	3��:

#

&

(8�
�037 � �����4 8�58� � �83���7 ��4. �3
8�3�<	�3��3 �!���� �1 ����0��3 � ��0�0�3��	0�
�C���5:  K3<�� ��3 �1. ���7 ��� ;�����0�	�
��	". �
�

3 ��8���3���� ����0�7:

(8����0�7 ���� 8�3�<	�3��
�!���� �3��1��0 0�1	03�:

> ��0�3 8���03
� ��5�3��7 
3:

&���4	�7 0�1	0�� ���
;�����0�	�
��	":
>�	�1��17 ����
;�����0�	�
�3 0 8�58�:

0

#���4	�7 0�1	0�� ���
;�����0�	�
��	" �
8���1	0�7 �1�
8���3��0�
8�03�5�	"�
1	3��:

J

>���17 ����
;�����0�	�
�3 ��

8�58�:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

-�	��������
� �����  
%�9-5:;:1�:<  ��03� ��������35
8�����0�	" 	0����<	� ��03
� ���1	0�7
��8��� �8�4���3�� 8���3��0� �
��08�4��7 ����35:  B����������3 �3

	0����<	� 5��3 
�7 8�0�	0��1 �
���3@:

46>�><  *�03
� �0������7 ��0�����3 �4�3
8���0���3 8�03� ���1	03��35 �	" �� 8�58�:
�: B�8�0��7 ��4 0 �������35 %:  &��1	0�7 �4�3

8���3��0� 8�03�5�	"�
1	3�� � �C��3
 	04<	�
8�58�:

=: &��1	0�7 �1� ������� � �������� 8���0�� �
����3
 	04<	� 8�58�:

�: >���4	�7 ���3 <��
� L�M � 0�
17 �����4 8�58�:
A: B�8�0��7 ��4 0 �������35 ��:  &��1	0�7 0


3��3
 ������ ��3�35 0�0��	0���	" �4��
8���3��0��	":
46>�><  &0��	03��� ���3���3 �� ������� ��
��8������
1 �0��	03���5 ���3����5 ��
��(������ 
��1�$�7 
�����-��$���( ��
������3 =�:

�: B�8�0��7 ��4 0 �������35 %:  >���4	�7 ���3
<��
� L?M. 5�	�
1	3 8�584 �� 8�������:
>�5������7 8�584 � 8�03��3<7 
1 �� 	0����
��C� ����0������:

�: B�8�0��7 ��4 0 �������35 ��:  '�05������7
8�584 � 8���0��� �8��C
. 0�	0���
1	 �� ���
;�����0�	�
��	":

46>�><  �������	
3 �35������ 0����C�
0�	������	" 0��
��
1 ��4 � ��0�0���3 *������
$����� $���������� �� ������32�$:  *��	03
;�����	�
�3 0��
��
1 ��4 � 03�����	" 0 0�����5�
0�	������5�:






�

������� 8 �����-�� 
��
�

��




��

�

�

������� 	93��1�$���� �6�� 
����-�$���(



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

�

	

�

�


�


��

�

�

�




�

�

��




��

��

�	

��

��

��

��

������� 		 ��$���-������ � $���-������ 
��
�

�:2 ��N55 0�1	0�� �4�� L=M

=:2 B����� 0�����3 L=M

�:2 B�1	0�� ��� ;�����0�	�
��	" L=M

A:2 �N55 0�1	0�� �4�� LAM

�:2 B3��4��0�� 03�8C� ���
;�����0�	�
��	"

�:2 �N����� L=M. �.�=� T �.$��S

�:2 *��	03 ;�����	�
�3 L=M

$:2 '��� ;�����0�	�
�3 L=M

%:2 '�0�0�3��	0 �C���

��:2 B����� 0�	�����3 LAM

��:2 D��8�� 0����� 0�	�����3��

�=:2 '�0�0�3��	0 �����

��:2 R��
� �=�N55 LAM

�A:2 ��N55 0�1	0�� �4�� L=M

��:2 �N����� L=M. �.=�% T �.A��S

��:2 �N����� L=M. �.�$$ T �.���S

��:2 �N����� LAM. �.�$$ T �.$��S

�$:2 �N����� L=M. �.=� T �.���S

�%:2 �N����� L=M. �.A�$ T �.�=�S



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

5��������
� �����  

%�9-%;1�:<  ���3�� 8�03���03��7 ���3
��<	� � �83	�;���	
� 5������:  ��30�����<7 0 �������	
1
5������ 5��3 
�7 8�0�	0��1 0���0	03��� 8�58�:

46>�><  '�0�0�3��	0 �C��� � ����� � �3��
� 8�030��	0��3
 �� �������� 0 �����<	�1 5��� 
�7 ��������3
�5��� 8�03� 8�3���0�5 ���	�35:  ��3 ���3�� 5�7 8�������	" ��� ;�����0�	�
��	"�

%�9-%;1�:<  ��3
5���� 0� 5�	��
����4	�7 0�1	03�:
(8�����
3 �� 03�����3
�����C�:

#

�	

��

0 B�8�0��7 ��4 0
��0�0���35 *������

$����� $����������

�� ������3 �$. ��0�3
8�����
�0	03�C���3
��;��5�	
3:

��

��

�
��

��

�




��

�

�

��

D

#

0&

J

#���4	�7 <��
�
��8�035�3���3 8�
��� �
���� 0
5�53��35
��@	���5
�.�%O�.�� �5:

�

�	

��




��



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �	

��� ����������� 	��
  ������� )��8�������

�

�

	

�

	�

�


�


K

#���4	�7 5�	��




��




��

�

�

B�8�0��7 ��4 03
�	"35��35 ���1	03U
��� 8�3�5���	0�3 ��
������3 =� � =�:

�

��



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	��


��� ���������� � 	��
  ������� )��8�������

6��
��� 	����� 	��
�
�����  

%�9-%;1�:<  B�
308�3	0�7 �0	04�� �5���� 8�03� ����3��35 �� ��	" ���8��� 0�����:  �5����
5���� ����4	�7 ����� 0 ���1 ���1. �
� 5�	�� ��0�5��� ���8��:  ���3 8���48�����3 5��3
��8�����0�7 �� ��0���03��� ���8��� 0����� 0�	�����3��:

46>�><  �� �C���	" �����3�0�	" 0����C� �1 �����	0��3 ���3�� /�:

46>�><  >�5�3��7 ���	03 ;�����	�
�3 L0��
��
1 ��4 0 03�����3 0 0����35 0�	������5M 8��	0�� ��5����
0����C� 0�	������	":  (0	03�C���3 ��;��5�	
3 0��
��
1 ��4 � 8���	�3 � �8��� 8��	3���� :��-�� 
��
�:

6�������
� 	����� 	��
�
�����  

#

>��4	�7 ���8�� 0����C� � �5���� �����1 ����1
���3�����1 �� ��3
�3:  K3��1 �4�1 	"��7 ����1
	04<7 0����� � 8�	�1���
 
1:

0

#���1 �4�1 �	�<��
 �����3�0 0 �����3
 ������
0�����:

&

��	�1��17 5�	�� 0��C�. �� ������3 ��4 0
���8���:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

6
*����
� 	����� 	��
�
�����  
46>�><  >�0�����3 0����� 0�	�����3. ��C�3 �1
8�030��	0��3 �� 8��	� 0 8�������5�
�8����	0�5�. 5��01 
�7 ��������3 �5��3 8�03�
8�3���0�5 ���	�35:

#

&
�C	�7 0��C�. �
� ���3����7 �C��1 �����4 ��
��3
�3:  ��03����7 ���04�0�3 �� ���������
0����C� 8�030 ���8�� 0�����:

46>�><  �� ����3��� 0����� �� ���04�0��
<	���17 �����3�0 � JV'�W+ ��@	� 0�����:

0

>��@ JV'�X �����4 0����� 0�	�����3�� ��
���04�0�� �� ��������� 0����C�:  R	���17
JV'�W �����3�0 � <	�<��4�� ����17 �� ���8���
0����C�:

&

)��� 	0�� <	����
1	 JV'�W �����3�0 0�����.
8�	�1��17 ���04�0�3 �� ��������� 0����C�:

J

��	�1��17 ���04�0�3 8�030 ���8�� 0����C�. ��
JV'�W ����3	 0����� � ���04�0�3 �����1 ��4 0
�C��3
 	04<	� ���8��� 0����C�:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

��=����� ��*.�	�" ���������	���=  




�

�

�

�

��

�

�

�

�

�

�

�




�

�
�

�

�

�

�

�

�

�

 

�

�

�

�

�

�

 

�

�

�

�

�

�

�

������� 	� ��(���- 
��1�$�7 
�����-��$���(% ������� 	 $ �

�����! ����0��3 �3�������� �1 �
�C	��3. �
� �����	0��7 0�1	0��:

> ��0�0���3 5$6��� 8����� ��53�� ���������3 �4��:
L����
��

	���3��	��
,�'�� �*����F

�� G��'�H

>> M � 55 ��3
�3��� =�� L$.��M

! !M � 55 ��3
�3��� =�� L$.��M

2 2M � 55 ��3
�3��� =�� L��.�AM

� �M � 55 ��3
�3��� =�$ L%.��M

: :M � 55 ��3
�3��� �$� L��.��M

N NM � 55 ��3
�3��� �$� L��.��M

� �M � 55 ��3
�3��� =�$ L��.%�M

� �M � 55 ��3
�3��� =�� L$.��M

O OM � 55 ��3
�3��� ��� L�.��M

, ,M � 55 ��3
�3��� ��$ LA.��M

L����
��
	���3��	��

,�'�� �*����F
�� G��'�H

� �M A 55 ?30
����� =A� L%.��M

B BM A 55 ?30
����� =A� L%.��M

1 1M A 55 ?30
����� �=� LA.$�M

% %M A 55 ?30
����� �=� LA.$�M

� �M A 55 ?30
����� ��$ LA.=�M

P PM A 55 ?30
����� ��$ LA.=�M

- -M $ 55 ��3
�3��� ��� LA.�AM

� �M $ 55 ��3
�3��� A�� L��.�AM

9 9M $ 55 ��3
�3��� =�$ L%.��M

4 4M �� 55 ��3
�3��� ==� L$.��M



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

�

�

�

�




�

�

�

�

�

�

�

�

 

�

�

�

�

�

�

�

�

�

�

�

�

�


�

������� 	" ��(���- 
��1�$�7 
�����-��$���(% ������� � $ �



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

2	3��
  
> 	3�� 0�5C��3��� 	04<	� ���3�� �����������7 ��4 0 )3����5 &
����� D��3��� ;��5� ������� ��
 0
�������5 8�03������	�3�35 ;��5� �������:  �������	
3 � ����0 	04<	� �������
1 8��������3 0������0�����3 �
�8�����3 	04<	�:

,��	�����
� 	 
'����������� ��
�	�
�	3��
  
��53�� � ����5��3  ��	����  ��8������
1 �0��	03���5 	04<	� �� �������	
�	". ��C�3 0��
��
1 ��4 8�
8�03���������	" ����0�	" 	04<	�:  D�� �� L��3 8���0���M �0��	0�. �3 ���� 	04<7 ��3 
3�� 0�����������:
+�<���� LYM �0��	0�. �3 ��53� ���������� 	04<	� ����	0� ��0�����	" 	04<	� ����	0��	" �� �������	
�:

H�	0
� � ����5��3 1� 
��$ 
3�� ��53�35 	04<	� � �������� ;��5� ������� )��8�������:  +�<����� GLN N N N N
NM �0��	0�
1. �3 	04<	� ��3 5���� 0�5C��7 ���0�3���3:

> ����5��3  %�
�  0��
��
1 ��4 ��0�� 	04<	�. 
3
 ��5���� � 3�3�������3 ��������3 ���3:  >	�4	�� ����0�
1
0��3���<	� 5�4�0� 03�8���5�. 8��03�8���5� � 	04<	��5�:

� B�5C��3��3 03�8��� ��1�3 ��4 0 0�5C��3��35 8�0�	
� � � =:

� B�5C��3��3 8�0�	
� � �0��	0� 0�5C��3��3 �C���3� 8�0�	
� =:

� B�5C��3��3 8�0�	
� = �0��	0�. �3 0������3 ������	0��� ����� 	04<7 =:

>����<7 � ����5��3  �
�	)�  
3�� ��3���<	�1 ��5����1 � ��01�03���. � 03�8��3 ��
 � 8��03�8��3:  (��C�
>�� L�3���� 8���03
M �0��	0�. �3 ���� 	04<7 5��3 
�7 0�5C����� ��035 ��
 ��	0
� �0��� 0��3�� ��
�3��
� ��
 5��3�� ��01�03���:

H��3�� � ����5��3  4���
  �����01 ��4 �� ���� �� ��@	� ����3�� ����0� 	04<	�:  /���� 0���3��
1 ����3
��;��5�	
3 � 0�5������� � 0����������� 	04<	�:  ���3�� ��4 0 ��5� �0	03�C���� 0�8�0��7:

�! �! #$%& �'�( ��)*+$ (*%& �,$-$

� ������� �������� �

� ������ � ���!������� 	 �

	 ������ �"� #!$% �



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

5���/* �����  

B�8�0��7 ��4 0 �������35 �A:

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
� ��
		�� #&'# ���(')*+� ,�-, .!/!.�%� 01*2�

3���$!%�4� 55� /!.6!-�7
�

� 8 8 8 8 8 8 � #9(&'�:5; ���(')*+ � �

	 ��
		�	 � #&'# ���+� 01*2� ,�-, .!/!.�%��
3���$!%�4��55� <=4 .4�%$4��

� )

� ������ � �;>(?� �4.6�%� '� � 
�� ��!.6 	

� �����
� � ;@2(>� ,�-, .!/!.�%� 01*2 /��/ �

� 

	
	� � �;>(?� /!� ,�!7� $�.����7� '� � �	�
<�%, ��%�-$!� �4.6<!�,�$ ��A��

	

9� 

�
�� � �;>(?� �4.6�%� '� � 	�� A��. � ;

9� 

���� � 9&:� ,��� '�� �%���� A��. � ;

9� 

��	
 � ?��0(>� B�!%� '� $�-��!$� '�� �%���� A��. 
 ;

9� 

���
 � ?��0(>� �4.6� '� �/��%� '�� �%���� A��. � ;

/>�J� �9 B�8�0��7 ��4 0 ��0�0���35 #��
0� 
�����-��$�� �� ������3 =�. ��0�3 0�5�3�0	0��� �����3� 	04<	�
��������	" �3�� 03�8���:

?9 B�8�0��7 ��4 0 ��0�0���35 5$6��� 
��
� �� ������3 =A. ��0�3 0��
��
3 ��4 �����3� 	04<	� ��������	"
�3�� 03�8���:

)9 *�	" 3�353��C� ���3�� ���7 �� 0�5��������� 8�58�:

��9 ��3 8���0���

�

	

�

�

�

������� 	' 5$6��� 
��
� 
������ ���� � ����� ����������&



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

5���/* ����� )�	 �'�����/�
������.���=  

B�8�0��7 ��4 0 �������35 H--'-'2+-'D-':

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
C ��
		�	 #&'# ���+� 01*2� ,�-, .!/!.�%�� 3���$!%�4� 55�

<=4 .4�%$4��
�

� 
����	 � ;@99(;:@>� �!��� �� �� %��� � �=

���%,$�!7

	 1

	 8 8 8 8 8 8 � ;0(;D 2�*2( !�������� /��/� #$47�-� 	 1� (

� 8 8 8 8 8 8 � #*&3� B���7�A��- %���� ,�-, .!/!.�%� 01*2
/��/

	 1

� 
�	��� � ;@99(;:@>� �!��� � �� %��� � �=
 ���E�$�!� �

� 8 8 8 8 8 8 � :&)(� 4�%�$ B���7 !�������� ,�-, .!/!.�%�
01*2 /��/

�

� 
����� � @8>593� ����.4��� ���	� � ��
�� � ���
� ��� 	

� 8 8 8 8 8 8 � 15�;� B��%�$� #$47�-� 01*2 /��/ 	 �


 8 8 8 8 8 8 � :&)(� B���7�A��-� ,�-, .!/!.�%� 01*2 /��/ 	 )


 ����	�
 � D5:� �//�$ + �!��B4�7� ,�-, .!/!.�%� 01*2
/��/

�

�� 8 8 8 8 8 8 � 2�*2(� /��.,� ,�-, .!/!.�%� 01*2 /��/ � �� ;� F

�� ��
���� � )@1+� /��., E!�E�� ,�-, .!/!.�%� 01*2 /��/ � F

�	 ����
�� � )@1+� �4<�$ +� ,�-, .!/!.�%� 01*2 /��/ �

�� ������
 � �;>(?� �4.6�%� '� � �	�� �%!������ �%��� �

�� ������
 � ;@99(;:@>� �!��� �� �� %��� � �=	
���E�$�!�

	

�� ����	
	 � @8>593� ����.4��� ��	�
 � ����� � ���
� ��� 	

�� 
��	�� � @8>593� ����.4��� ���

 � ����� � ���
� ��� 	

�� 
����� � @8>593� ����.4��� ���

 � ��
�� � ���
� ��� � )� 1

�
 
��	�� � @8>593� ����.4��� ��	�� � ����� � ���
� ��� 	 1

�
 
����� � @8>593� ����.4��� ����
 � ���	� � ���
� ��� 	 1

/>�J� �9 *3 	04<	� 0��
��
1 ��4 0 03�����3 �3�������5 0����� 0�	�����3��. �� ���: ��%==�=:

?9 *3 	04<	� 0��
��
1 ��4 0 03�����3 �3�������5 ���� ;�����0�	�
�3
. �� ���: ����=��:

)9 #� ��5���� �����������	" ��3
�3���	" 0����C� 0�	������	" �� 0����� 	0���3. ��38�03���01	3P ��
���: ��%==��:

#9 > 	3�� 0�������0������ 8�58 �����03�� ��8� � ������������ �	" �� 0����C� 0������	" ���3�� ��8�.
8���0���	" �� ������� H--'-'2+-'D-'. ���3�� 0�5C��7 03���� �������0�	�
�� 0����� 0�����3��. ��
���: ��$����: > 03�����3 0��
��
1 ��4 ��5�3����3 	04<	�:

-9 > 	3�� ��5���� �
� 0����C� 0������	" ���3�� 0�5C��7 03���� �3������� 0����� 0�����3��. �� ���:
���$���:

E9 > 	3�� ��������� 5��3���0�	
� 8�58 �����03�� ��8� �� 8�58 0 ����	03���5� 0�����5� 0�	������5�.
���3�� 0�5C��7 03���� �� ��%==�� 0 0�����5� 0�	������5� �� �3�3��	
�:  > ��5 03�����3 0��
��
1 ��4 A
0����� 0�	�����3 � ���� ���8�� 0����C�:



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

�

	

�

�


�


��

�

�

�




�

�

��




��

��

�	

��

��

��

��

������� 	) #��
0� 
��
� 4�$ �.����-0� �-����1���(



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

:'������ ������.�� �����  

������ '���  

B�8�0��7 ��4 0 �������35 ��:

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
� �����
� &95@9� %��� � �� %��� � � �� %��� � � �� %��� 	

	 ������� ;@99(;:@>� �!��� ���E�$�!� ���4<� � �� %��� �
'�

�

� 
�	�	� ;@99(;:@>� �!��� ���E�$�!� ���4<� � �� %��� �
�=
 ���




� 

	��� �;>(?� �4.6�%� '� � 	� �4�-� ��!.6 �

� 

���� ?��0(>� �4.6� '� �/��%� �%���� A��. �

� ������
 2�*2(� ����!%�$�� 74���� !�$ /��4%�7� � /4$% 	

� ���	�
 '&FF*(>� ��,!��%� �=
 ��� 9#: 	


 ���
��� >(3&*�:@> ���(')*+� �C	� /��� �C��� �!$ �


 ��
��
� '&FF*(>� �����.�$� �=� 9#: �

�� ������
 &95@9� B��!�� ���6,�!7� �� �� %��� � �=� >#: �

�� ���	

� (*)@?� /��- ��� �� �� %��� � �� �� �%�� 	

�

�

�

	

�




	 �

��

�

�

�

	�
�

�

�
�

�
�

�

�

��




������� 	+ ;.����-� �-����1�� 
��
� < �-���� .���



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� �	

��� ����������� 	��
  ������� )��8�������

������ �����  

B�8�0��7 ��4 0 �������35 ��:

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
�	 

	��� �;>(?� �4.6�%� '� � 	�� A��. 	

�� 

���� ?��0(>� �4.6� '� �/��%� '�� �%���� A��. 


�� ���	
	� #&'#� E!.��� -���$!%4$ �

�� ���
�
� ;@99(;:@>� /��- �� +� 
 �� �%�� � � �� %��� �

�� 

���� 9&:� ,��� '�� �%���� A��. �

�� ������� (*)@?� /��- ��� 
 �� %��� � 
 �� �%��� /�!�%�. �

�
 ������
 &95@9� .$4��� � �� %��� � 
 �� %��� �

�
 �����
	 2�*2(� %����-� ,�-, .!/!.�%� 01*2 /��/ �

	� 
�		�� � ;@99(;:@>� �!��� ���4<� 
 �� %��� � �=�
���E�$�!�

�

	� ������� ;@99(;:@>� �!��� ���4<� � �� %��� � �=�
���E�$�!�

	

		 �����
� �;>(?� �4.6�%� '� � ��� A��. 	

	� 

���
 ?��0(>� �4.6� '� �/��%� '�� �%���� A��. 	

	� 8 8 8 8 8 8 0@*1(>� .�!�/��-� �/$��- !.%�4� �

	� ����	�� �#>593� %!/�$�7� ����	 � ����� ���� /��/
-$4��7��-

�

	� 

���	 ?��0(>� B�!%� '� �!$$4<� '�� �%���� A��. �

	� ������� 95##*(� $�7�.��-� �� �� %��� � 
 �� %����
/�!�%�.

�

	
 ������� &95@9� %��� 
 �� %��� � � �� %��� � � �� %��� �

	
 

���� 9&:� ,��� '�� �%���� A��. �

�� 

���� ?��0(>� �4.6� '� �/��%� '�� �%���� A��. �

�� 

��	� ?��0(>� B�!%� (� ��	�� � ����� � ����� ���� �$!�� �

�	 ��
��	 ?5>(� -$4��7� /4<�$ 7��%$���%�4� �

�� 	����� :�3� -$4��7 �

�� ���	��� &95@9� ���6,�!7� 
 �� %��� � 
 �� %��� �

�� 	


	� >(3&*�:@> ���(')*+� �C�� /��� �C� �!$ �



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	��


��� ���������� � 	��
  ������� )��8�������

�	

��

��

��

��

�


	�

	�

	� ��

	
	�

����

��

��

��

��

�


��
	�

	�

�	

	

��
��

	�
		

������� 	/ ;.����-� �-����1�� 
��
� < �-���� 
����



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

637� ���
���	�� 
 ����	
���  




�

�
�

�

�

�




� �

�

� �




































�

�

�

�

�

�

�

�

������� 	2 *6�� 
����-�$�� � 
���$����&

6.7 1� 
��$ %�
�

� %���A= �55 <�: 03��:. ��3
�3���

? %����� A55 <�: 03��:. 
30
�����

) %����$ $55 <�: 03��:. ��3
�3���

# %���A� ��55 <�: 03��:. ��3
�3���

- ������A ��55 <�: 03��:. 
30
�����

E %����% $55 <�: 03��:. 	0����



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������

>������� ���� ��.���  
���8�3� ���� ��1	3
 �5������� ����3 8���1	03��3 �4�� ��1	3�� �� ���� ��1	3
 � 8�58�3:  ���8�3� 
3��
����48�� �� ��� ��1	�	" 0 03��4��0��5 8�3�<	�3��35 �!���� ��
 �� ��� 
30 ��3��:

>������ 	 �
����
��
�� �Q�
��  
B�8�0��7 ��4 0 �������35 �%:  *3� ���8�3� ����
3 ��4 �� ��� ��1	�	". ��C�3 ��3 5�
1 03��4��0�3��
8�3�<	�3��� �!����:

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
� ���
��
 15�;@99(;:@>� ,�-,8.!/!.�%� 01*2 /��/�

<�%, /��/ �4��% @8$��-
�

� ���
��	 � 9&:� %��� $�%!����-� ,�-,8.!/!.�%� 01*2 /��/ �

	 
����� � @8>593� ����.4��� ���	� � ��
�� � ���
� ��� �

� ���
��
 � '@&9:� /��/ !7!/%�$� <�%, @8$��- -�!�7 �

� 
�	��� � @8>593� ����.4��� ���� � ��	�� � ���	� ��� �

>������ )�	 �
����
��
� �Q�
��  
B�8�0��7 ��4 0 �������35 �%:  *3� ���8�3� ����
3 ��4 �� ��� ��1	�	". ��C�3 5�
1 03��4��0�� 8�3�<	�3@
�!����:

1� 1� 
��$ %�
� �
�	)� �	�$ 4����
� ���
��
 15�;@99(;:@>� ,�-,8.!/!.�%� 01*2 /��/�

<�%,4�% /��/ �4��% @8$��-
�

� ���
��	 � 9&:� %��� $�%!����-� ,�-,8.!/!.�%� 01*2 /��/ �

	 
����� � @8>593� ����.4��� ���	� � ��
�� � ���
� ��� �

� ���
��� � '@&9:� /��/ !7!/%�$� <�%,4�% @8$��- -�!�7 �

�

	

�

�

������� 	8 5$6��� ���
-��� ���� ��1���



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	� ��

��� ����������� 	��
  ������� )��8�������

2	3��
 	��
����  

D���� 0 8�����0�	" 03����C� L8� 
3���5 ��� ����3
 8�58�M ���3�� 8�03	"�����7 � 5���0���3:

B��C� 0�	������
�� ���: ��%==�=
LB���3��9
A 0����� 0�	�����3.
= ���	03 ;�����	�
�3.
= 8�3�<	�3��3 �N����.
���04�0�3 �� ���������M
�������	
3 �� ������3 �$

B��C� 0�	������
L�� 8������C�
�8����	0�	"M
�� ���: ��%�%�%
LB���3��9
A 0����� 0�	�����3.
= ���	03 ;�����	�
�3.
= 8�3�<	�3��3 �N����.
���04�0�3 �� ���������M
�������	
3 �� ������3 �$

B��C� 0�	������
��38�03���01	�
�� ���: ��%==��
LB���3��9
A 0����� 0�	�����3.
= ���	03 ;�����	�
�3.
= 8�3�<	�3��3 �
����.
���04�0�3 �� ���������M

�������	
3 �� ������3 �$

'��� ;�����0�	�
��
�� ���: ����=��
LB���3��9
= ���� ;�����0�	�
�3.
A 8�3�<	�3��3 �
����M

�������	
3 �� ������3 ��

'�0�0�3��	0 �C���
�� ���: ����=�%
LB���3��9
� ��0�0�3��	0.
= 8�3�<	�3��3 �
����M

�������	
3 �� ������3 �A

'�0�0�3��	0 �����
�� ���: ����%��
LK3��� �0����M

�������	
3 �� ������3 �A

B��C� 0������
�� ���: ���$���
L#��3 �0����M

+��3���0�	
� 0�����
0�����3��
�� ���: ��$����
LB���3��9
= 0�1	0�.
= 0����� 0�����3.
= �����.
� 8�3�<	�3�� �N����M

#� 5��3���0�	
�
�����0�	"
8�58 �� ���3��
��8�
0����C� 0������	":

B��C� 	0�����
�� ���: ���A�%=
LK3��� �0����M

B��C� 5����������
�� ���: ���A��%
LK3��� �0����M

B3����
5��3���0�	�
��
0����C� 0�	������	"
�� �3�3��	
�
�� ���: ��%==��
LB�5�3���
�� ���: ��$�=A� ��
��%==A�
�� ���: ��$�==� ��
��%==A=M



��58� ������� ,#HI J3�3������ �� � ���3
 ����
��<	���

��� ���������� � 	��
  ������� )��8�������



�:,�>->2O> 5�%�1%L2�

B���'< ����� ����	
��� ����
��C ����� �����8����� ���� � ��7�� ���������

L,��" #3����� ����3� H�� #3����� ���M

5���������� ����
����<

%A�%�-) L �*-Z. ��8����3��3 ������3 � 8��3�	
����3 ��
�	"��3
 
��5��;3�03M

%$����--) L#��3����� 5��0����� M

1����C 
�/���= 	������F )�����<

-���=�N� -���A��N�

-��=���N� -���A��N�

5�����<

����3
�0� 8������ 0����� ��8���������� 0�����3 0 ��
�1 8������1 ������3���1:

��03��������� 8������ ��8������ ���5�5 � ���������5 �8�����5 8����3
:

%	���	��
� �����8��� *������'���< -T �� � # 	 *�
������ ���=�
�	��<   K3������� ����;������� [���$

4����<  '�� 8�����	
� ��01�03��� �����3
3 � ��53�03 �3��
��5: \�����S �0��	0�. �3
��01�03��3 0������ ��8���������3 � ���� =���. \�S �0��	0� 5�3��1	 8�����	
�
���	03@:

2����8

�� ��
���
<

#�I �(&%���9=���
�����3��03��3 
���<	� �*-Z Y ?��33;� L=���M H��:

#���9  =% ��3�8��� =���

K��38" (	"��3�3�
-����33���� +����3�. 
E����"��� �����	� #3Q3��853�� J���8

������� )��8������� �  >3�����3. &"�� #&)�A�=��




